Prisoners Dilemma In Class work

JK Colin
Confess Silent Confess Silent
JG C | CC:(2,2) CS: (4,1) Rose C | CC: (2,2) CS: (3.,1)
S | SC: (1,4) SS:(3,3) S | SC: (1,4) SS: (4,3)

In the Prisoner’s Dilemma:
Confessing is a better strategy for JG regardless of what strategy JK

chooses to follow.

Similarly, confessing is a better strategy for JK regardless of what

strategy JG chooses to follow.

Both have an obvious strategy they should choose, and so we can

predict the final outcome of the game.

In our in-class example:
Confessing is a better strategy for Colin regardless of what strategy

Rose chooses to follow

Rose does not have a strategy that’s always best for her



